MACI1105 College Algebra
1.4 Practice Problems

Solve the quadratic equation by factoring.
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Solve the quadratic equation using the square root method.
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Solve the quadratic equation by completing the square.
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Solve the quadratic equation using the quadratic formula. B G
9. 3x*—4x—9=0 . T ar
a=3 b=-4 =79 — 4t qu |
s / > ytal)
o NS a D :“”3‘ —
= - . -
ﬂ—”/’!‘_f‘i&ﬂ_ g :1(-—? -y A El]
= 4 T ori10% = 4= = g = 3
10 2x2+x+6:ép
. B = )
A=2 %,1 szﬂfli{@
V= = | )E-aaled -'-*‘—‘q
- 2(2)
= =12 {-4%
A
B s B il
= A



